Semester One Review ~ Algebra | December 13, 2023

Today's Plan:

Learning Target (standard): | will review for the semester exam.

Students will. Complete practice problems over previous concepts at the
boards and study for my exam.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuarcy and provide students feedback, describe
and provide examples of exam problems.

Assessment: Board work

Differentiation: Students will work at the board, actively engage in practice
review concepts with the aid of other students and the teacher.

: And "coordinating"
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BELL RINGER

1) Find the y-intercept of 1'he equa‘l'lon X+ 3y =4
-x-l- 0+%y=Y
Iy.(o, 3) 1-'3x+§ 3q=‘l

2.) Solve the equation 2(x - ) = -3x + 4. \| p

2x-2=-3x¥{ oy - [,

K-2=4

3) Graph the l.ln M
m=U

) The countyflns a popular field trip destinatios Th1 year the senior class at High School A aj
senior class at High School B bof thplannedtnp Lh . The senior clas tthSh ol A renteq
filled 3 vans and 12 buses with 411 students. thSh 0l B rented and filled 14 v ansa.ndéb
with 318 students. Ever ry Van had the same number of students in it as did the buses. Find e
number of students in each van and in each bus.

®x=#oxm;ﬂwm @ 3x+12y= Yy
\=#ofshudms inabos  ZBX-I2y=-3l

® 3xey =4l 27+|2 =Ml -29x=-22%

(MxHny=318)-2 : ok

etch the solution to each system of inequalities.

) x+2y<-2 37) 2x+y<3
2x+y=2 2x+y=1
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The county fair is a popular field trip destination. This year the senior class at High School A and|
senior class at High School B both planned trips there. The senior class at High School A rented |
filled 3 vans and 12 buses with 411 students. High School B rented and filled 14 vans and 6 buse|
with 318 students. Every van had the same number of students in it as did the buses. Find the
number of students in each van and in each bus.

ch the solution to each system of inequalities.

21‘-x-2 37) 2z:+y<sD Y‘ -ZX+3
2x+y= 0

2x+ 3= 2 Y‘—%x_l . o -

x+2y<—
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Graph using the intercept method.
dx -3y =-12

Uy =-\2

T.(-2.0) %3

L\ (0, 4) 3;’[12
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Graph using the intercept method.
—2x+7y=-14
Ly (7 ,07 -Z2x=-H4

X=7 ‘
I.(00,-2) =N /

Write the equation of the line in standard form.
parallel to M =6
‘3\1:—&4-(0

- %2,
= sy
=51t 2
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